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W, INEH AR RREREIAECHT, BRAFENGEREE,
Bk RMKFEEAR,

RSS2

45 Z 097N,

WA LARERERFR ? R A ERGEFRERIT, E
MR, kT ILAERIRFOTIED ?
mERGREHE R, ANFARKE, TERTELZER
015, AR EFRKATNE, RELGSERBARKEE ,TL
WRBREFETET, TR AR EECERRA L,
FTvise & kX )JUEFK, bk mERARET AR,
TR, R RRNFTANE  RRA T EB G EST R E e
SR, BAEMER ZPRRLIZ AR EST R,
ELE, RRHFEURSBBHFTA, REFRERLAS
A,

AR BN BB IHOALEFTIR), RENEHERE , ATH, T
1 ORBEELE FRETHEE, AR ARG TR,
SFR LA B LR ARG IAATES T,
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B REE TR SRR E N FSTRY | ERARELE
EEEAHR L REFEE ?
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B ERRGRE R E, BT, RSB ES T4 2

BAREE, RERERL? WUATEEE R BEEDHER,
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2o ? AR BB R Rk, BAEESH R AR EEAR ?
¥, MEAILET,
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ARAHHRE TREBEAALELCARER, TRERDARI,
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ENLARGED CHARACTERS FOR EASIER VIEWING AND COMPARING
B OB B 7 R B AWM E
E 7 % & oW % KR MHE

1. MULTIPLE ATTRIBUTIVES _

A noun can be preceded by several attributives. The order of attributives follows certain rules. Fi
descriptive attributives must appear after those that denote possession or other non-descripti
attributives. Numerals plus measure words, and demonstrative pronouns plus measure words,
sandwiched between these descriptive and non-descriptive attributives.

© ATPHE RFAZETIERGRMER A LE, AR ERGIMEAR L
KT,

zﬁﬁlﬁmﬁﬂTka%mAﬁkw/lx¢&@$%%Aﬁz%
X TA,

In China we toured several of the biggest parks in Beijing and that famous Confucian Te

in Nanjing.

JE7 and lﬁ]j‘?‘ indicate places; they are non-descriptive. They appear first. %j{ and ﬁ A
descriptive. They appear last. %":‘E‘IE?] a }L/]\ and A} A8 4 }]Ii /]\ are inserted between these
kinds of attributives. More examples:

@ WHI/IERGIRIET AT A B0 EFE
W IBRER 4k dh it T—MEH A B EAHE,
Yesterday Mother told my younger sister a very interesting story.
() EEWHEGIFMAIRTE .
RA KRR HBIRIER,
The shirt that I bought for my older sister was very pretty.
@ BAIRTE TR EBI LA A,
AR CAL EIE AR EL L N\ 3T,

I never watch those junky news (programs) on TV.
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Among descriptive attributives, attributives that do not require f"] are closest to the nouns that

modify, e.g., ey ‘:]Ji%g?ﬁ / ¥F ‘:Fi %Uﬂi (a good Chinese teacher), e |
+ / ’)f R?Ffﬁ' f]}J 71‘% 7%"?‘ (a very new wooden chair). When both attributives are adjectives,
ple adjectives follow more complex ones, e.g., 3? ?'Eé{'l 4 ]‘z‘_’T (a little narrow river), H—‘l‘ﬁ* él]
i/ H‘l‘ﬂ‘l“éﬁﬂf‘} (a chubby round face), B RB &R / RKIVGEN @ huge green
). Finally, when both attributives are adjectives, those that describe colors follow other kinds of

ives, e.g., jiél%ﬁ / kél%ii (a big red shirt), ’j‘é%ﬁé / ’]‘ém’%— (a small white

2. 7& (shi) INDICATING EMPHASIS OR CONFIRMATION.

Chinese when the predicate of a sentence is an adjective, there is no need for a linking verb before
i 5 =4 o e ; )24
Only when we wish to reaffirm a point, do we use A& before the adjective. In this context A

ives its full fourth tone to indicate stress.

A SRRANRE, / HSRRAT4H,

The weather today is rather nice.

B S RRAANRE AFHEITITE?
AR RARTA, A= IHrT?
The weather today is rather nice. Shall we go out and play?

ot

REAHRAFLATE H RAFXRERRDFE, TRTELHAT
#%7.

TR ARILEBLRTFE, 2, AT L AERE T, TRELEZAAT
47,

You just said that men and women are unequal today. You're right. There is gender inequity

today, but it’s much better than before.

A BERTZAER e FET [ EIAXTR B el T ST

This girl plays the piano really well.
B: WAAERAT R, ERARERIMET,
RS BT AT RN, S RABIATET.

She does play the piano well. Even I was captivated by her.
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Measure words can be reduplicated to stress all inclusiveness or universality among consti
elements of a collective entity. In other words, all the individual members of a group share the

qualities or exist in the same state. The emphasis, therefore, is on commonality. A few nouns like

%, and X_ can also be reduplicated.
O AHREBF, ANFREE, /A RiTF AAFIRZE,
(emphasizes commonality)

Today is New Year’s Day. Everybody is very happy.

@ RMPEEF A, 3R BEEARILA, TTRARZRRA 2,
BAMIERF &, BRI, TR RARB .
(emphasizes commonality)

Although each and every one of the students in our class is very smart, they are not all very

hard-working.

3 AARIRMREL ., /BRI &,

He eats fish at every meal.

A. The word ‘ﬁ‘ differs from reduplicated measure words. Depending on the context, & cani

either commonality or individuality.

@ MFHOEE BRACERT. / B TRHE, SR AT,

During the Dragon Boat Festival, every family eats dumplings. (emphasizes commonality)

(5) AR = A, BB AL EABTRE,
NI ZA, PR TR,

Each one of us three sisters has her own interests. (emphasizes individuality)

“BAVBIR A, AANGIEABRE], /*EAHLIR Z A, ARSI

This sentence is incorrect because AL A emphasizes commonality rather than difference. Note
examples (1) through (4) all denote sameness: each and every person shares the same happy f
on New Year’s Day, each and every student shares the same characteristic of intelligence, each
every meal is fish, and every family eats the same meal during the Dragon Boat Festival. But
example (5), the sisters do not share any common interest. This is why A A and A5 [F] do mee
belong together, and why 5 has to be used.
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=
Unlike &F, reduplicated measure words generally cannot modify an object or serve as an object.

are:

Bz T EHE—EA, / REREFLIIELE A,

You must send a letter to everyone in our class.
RBRIBFEHIAN, /MRERFEFLILEAA,

FRe R E RN, /iaRefR g g,

Please deliver the letter to each family’s doorstep.
“HRELEEBIRENIID, /R R B LA,

_4.USING 1~ %2 TO MAKE COMPARISONS
can be used to compare, e.g.,
SRR ARBER, / SRR TABER,

The weather today is not as good as yesterday’s.

AT £ B a1 RARR Bl E R o he & K4,
HIE 175 B 694 AR Ie ] B A dm i & KT,

He feels that the American health insurance system is not as good as Canada’s.

BHEY AR EOATATE,
Y Rl R A AR TR,

This film is not as interesting as the one we saw yesterday.

When using A2, we can omit the adjective %f, asin example (1).

The adjectives used in this kind of sentence are usually positive, such as +F (good), A (big), ‘F{ /
{long), /[% (thick), ﬁ (heavy), and te-':;c (bright), rather than their opposites, ifi/ 78 (bad), 2N
), %2 (short), 8 (thin), 8 /%% (light), and B (an: dark).

RERE T 4ote, / ZEIRG ot

My grades are not as good as his.
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G)  REVIEEFHIT R RGIETFHIZ A %’E’C
ARG 38 F R N e R OGIEF R AT

Your adviser is not as responsible as mine.

6 ITFRAERHTE, /ITFIAR IR,

Typewriters are not as convenient as computers.

This form is similar to the zfl.%_ form (see Lesson 13), but A4 can stand alone. See examp!

and (4). In that case, it means “not as good as...”

One can also use 7~ E to make comparisons. However, 7~ G is usually used to contradict so:
else’s opinion. Usually, there is a previous occurrence of .

7 A FRAMEEARE, / KA ARE.

My sister is taller than you are.

B: N ARMMAREEHE D, /R, RIS,

No, your sister is no taller than I am.

® A B3LPXEE, / AP R,

Japanese is more difficult to learn than Chinese.

B: FREFHRILT U, / RIEAFHIRILF A,

[ don’t think that Japanese is any more difficult to learn than Chinese.

B i B ; v i
Note that zxﬁ and Z:J?t have quite different meanings. While zﬁﬁ means “‘not as (much)

71'21;& means “not more than.”
O NREARR, [ DREARE.

Little Zhang is not as tall as you.

(You're taller than my sister.)

INEREARR, / INRRARE,

Little Zhang is no taller than you.

(Little Zhang is shorter than you or the same height as you.

When making comparisons, we can often omit some words and phrases if the omissions will not

to any misunderstanding. See examples (1), (2), and (4) above.
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 5.MODALVERB € /2

modal verb /2 has several meanings. One common meaning is “to know how to do something

~ /"-f “ 3 -
learning,” or “to be able to do something after receiving instruction,” e.g., ﬁi@' £ z%;'g%‘ / §k

Wt e (I can speak Chinese); ”fk%'ﬁﬁ —ﬁ"»% / ’f@’%‘%i“—% (Can you drive?); and ﬁﬁ
K’%’% ;% 5!7_. / ﬁﬁ*ﬁﬂ‘:’z{‘;\@i &)L (My sister doesn’t know how to draw). Tasks that one

perform without formal or prior instruction are not expressed with@'//%“. In this lesson, we
duce a new meaning of B/ 2 as indicating future probability.

A BRAAFET, AR I, B L HR5?
REHRT, ARSI, e R?
I don’t have any money left. Do you think Little Wang would lend some to me if I asked

him?

B REEGHLR, / KBRS HEIR

I think he would.

A MR TR, RALECHIE? / KA IEN, TAEARTD?

The plane is (scheduled for take-off) at nine o’clock. Would it be too late to leave now?

B BEE REWh. / HESE, LW,

Don’t worry. [We/you] won’t be late.

pattern V + R/ FF + #2 is used to tell whether one can afford the money or time.
A BEAEE EFRERR/ REPLT, EFRLTAR?
The tickets to the play are so expensive. Can he afford them?
B: RIFHERR, / BAETAE,
I guess not.
$FES, B T, BITESRSR, BRALR,
3F L)L, AT, ANVERE, BRLR.

Put on more clothes. Don’t get sick. We don’t have health insurance and we can't afford to see

a doctor.
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@) AEBREBHERTRRRT, BICRA,
ARFABAE I ETAARAET, AP A,
That restaurant is impossibly expensive. We can’t afford to eat there.
@ BRERBIE IRERERES TR, RETFL,
BERI AN, ALK R EA R, RETL,

I'm so busy every day. I couldn’t find the time to go to the movies with you, even if you dié

ask me.

7. 8% /BF

-ﬁ‘ - 1] - - n 0
The adverb % 3%, is used to mean “after all, in the final analysis” or to emphasize the cause or
characteristics of something.

0 WEEERZEFTFRIFHAF, FFXULRELZT.
REFEREFFHFHNFL, FFPLREAETLHZT.

After all, you hear your parents speak Chinese at home. For you, learning Chinese is much

easier than it is for me.

@ WBHIFTEEE EBEeATELHZT?
BIBEFE A, EAATEBCMET?
A mom is a mom after all. How could she not love her own kids?

@ REBLAERT, RAEW®SS LBRARF—H,
RAEEFRERT, RAKLE%, LRELERF—H,

After all, it’s spring now. No matter how cold it is, it’s not the same as winter.

Important Words & Phrases

_1./oE (INADDITION)
EXAMPLE: RARREE, o b Idt R FERBIReY SERFHRE &, AT

R LMTFAE,

WRBEE, m LW AN FR B SIEFHRE &, PTilE
KX JUEBF R,
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AR A BRARR R ARG SARIR 2, , AR A BT84
IR, (RA H%T)
Mot A SRR K KRG ARRZ, , FINAH T AR
IR, XA #ZT)

Fg B aiB R, XAREE, ;
k%%ﬁ#&%*u%éﬁ%ﬁ’ﬁ@)ﬁn

FHERLH, A TEF, , e
m%mmmﬁwg%c e
RAAEHT, ERAA—MBAALRELERRET,
A EET, JIRK K NMALEREARHET,

R 2. %’V (AT LEAST)
PLE: JEhu B R B VRRLIE SRR ERE,
ek 2R RLIZSATTAEST R,

A B RUFRZ, PR RS AR, (AR

ot B RABATARIZR, , SUAR RBL AT, (e 2480

SR G ERAF ST LAAPFFENRLR, B . (EEBARTHF 2 7)
BRLA EEFH S TR FOIR, 22 . CLARHFZ T)
FRA R RF RN, 2R RBEBWT, (AREBT)
Xk E BB RFHARLST, 122 , REBEAT, HE3]T)

3. & / Z &, (NOT AT ALL, HAVE NONE WHATSOEVER)
wPLE: do AR HRME, BS54 R EEEERY,
Je BARE ARG 1E, RS AR A E E XA,

Y
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1) e AR LR BRI 2R . ()
b2 ) LR Lo, 2R T4, 1252 . (i)
@ BIMTEEET, IRRZ . (B 1%)
KMTEBIET, sk R (KR
3 HRZHEE LT EE, L (TARLRER)
MoK F R, 4,78 5k 33T, . (T2 ER)
il I M T a0 i i ql

EXAMPLE: 7] e AR 4538 B 28 )\ 3] B 85T Bl
TR ARALAT L] 25 2 8] A 4R 7T AR |

O RARBEARER? GAIARBRER, SR . (HE)
RAR R A EFD? sV RIEF, XA . (A%
@ e EERARRET, LA—& . CRA %)
HAEIFEERRRT, L E—# . (ZAE)
3 HEHHRET, MNAA . (A ARAR)
AFRET, DAA . CA#RIR)

ExAMPLE: RABRIGH, TR E SR,
RA G RIGH, 7 RRIES IR E R, :

@ TLENFERARGIEEHBLEFT, 45
THERGRAARGIEIBBLETT, 4k
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EEXERAETREA .

W BEFIVNEARRGE, RALSEHREFIE2EUT A "
X JUFIAERE B, RASHE MR A TEZAT

HERER BIEER ) ELEER, ALK A?

'

Nl DIALOGUE

BengTianming:  Lisha, zhége xingqiwl wd bl néng péi ni qu kan dianying le, wé déi qu jichang jie wo
glma, ta yao lai women daxué yiyuan kan bing.

s Nage gama?

Beng Tianming:  Dudlindud de nage.

s Ta weéishénme bu zai Jianada kan bing? Wé tingshud Jianada de yilido baoxian hén
hao, yiyuan yé blcud. Ta lai zhér kan bing bu shi déi ziji hua gian ma?
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ZhangTianming:  Jianada de baoxidn zhidl shi blcuo, rénrén déu you baoxian. Késhi ragud bua shi

jibing de hua, kanbing déi déng hén chéng shijian. Wo glma de xinzang bing suisss
bu tai yanzhong, késhi ta bu yuanyi zai déng xiaqu le. Jiashang ta tingshuo womes
xuéxiao ylyuan de xinzang ké hén yéuming, sudyi juéding lai zhér zuod shoushu.

Lisha: Késhi, ragud ni shi ge gidngrén de hua, ni jit hui juéde Méigud de yilido zhidu buse
Jianada de hao, yinwei zai Jianada zhishdo ni babi dan xin fi bu gi yilidoféi.

Zhang Tianming:  Zai Méigu, zhéngfli méinian na chd hén dud qgian zhaogu qiéngrén. Ni méiyou o
ylyuan yé hui géi ni kan bing.

Lisha: Néng dé dao zhéngfli bangzhu de rén bijing hén shao. Hén duo rén méiyéu mai
baoxian, you le bing, shou le shang, yé bu gan kan yishéng, déng bing zhong le ca&
qu kan. You baoxian de rén, baoxianféi yué 1ai yué gao, shiji shang shi ti naxie més
baoxian de rén fu yiyaofei.

ZhangTianming:  Rdgud ni ydu gongzud, gongzud danwei hui géi ni mai bioxian, ni ziji zhi cha yi
bufen.

Lisha: Késhi bushi sudydu de danwei dou géi ta de gongzud rényuan mai bdoxian. Ergié
"yangmao chi zai yang shénshang’, géngst hui tigao chanpin jiagé, zai ba gian )
huilai, zuthou haishi zanmen ziji cha gidn. Zhé yé zhéng shi Méigud yao bi bié de
gudjia gui de yuanyin.

Zhang Tianming: NI shud de buicud. Késhi ni yé déi rang zhi yao gongsi you qian ké zhuan na! Yaobt
Méigud zénme hui you shijié shang zui hao de yao ne?

Lisha: Ruguo ni méiyou gian de hua, yao wulun dud hao, dui ni yé shi hdo wu yiyi de.
Fanzheng wo juéde M@igué de baoxian zhidu yinggai gaigé. Dui le, ni gima shén
shihou dong shoushu?

ZhangTianming:  Hai bu zhidao ne. Ni xiang bu xiéng jian ta? Ta yiqian zai Taiwan haishi ge dianying
mingxing ne. Ting wd baba shud, ta pai le hén dud wudapian.

Lisha: Shi ma? Na wo zhén xiang jian jian ta, wémen xinggqjiliti qing ta chi fan zénmeyang?

ZhangTianming:  Hao a. Jiu zhéme shuo ding le.

Zai xianzai de shijié shang, dangran hai you rén zai wei chi fan fachéu. Késhi dui bu shao rén lai s
tamen dan xin de yijing b shi yingyang buzd, érshi yingydng guashéng de wénti. Suizhe shénghué shuipi
de tigao, rénmen yue lai yue guanxin ziji de jiankang yii shéncai. Chi su de rén yué l4i yué dus, ling
y€ you bu shao rén jian féi. Késhi you xié rén guofen jiéshi, jiégud huanshang yingyéng buliang zhéng
Yingyang zhuanijia zhicha, yinggai zhuyi shéqli du6zhéng yingyang, yinwei zhiyéu yingyang janhéng, c&
néng baozhéng shénti jiankang.



Lesson 16: (& FRELRE / BESRIE 359

T Y VPV VYV VPV VYV YV VP PV VP VYV VYV VP VY VP YT YV YT Yy TP VTV YVYTVYVPVYVVVYYTFYYY

Discussion Topic: Medical Care in America

£xplain in Chinese why Tianming’s aunt is coming to the United States. State whether you think the

American model of medical care is better than the Canadian model, and why.






